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2. Last digit of 14*°is (). A.2 B. 4 C.6 D. 8

3. If the present time is exactly 11:00 am, what was the time exactly 1000

hours ago?
A.3:.00A.M B. 3:.00 PM C. 7:00A.M D. 7:00P.M
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6. Look at Fig.3. Which of the following figures cannot be traced without
lifting your pen from the paper or going over any lines more than once?

A. B. C.
Fig.3
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A. 14 B. 20 C.30 D. 40

8. Matchsticks are used to make geometrical patterns. Study the number
sequence in the table and write down the value of the letter x.

L& & &

Fig.4(1) Fig.4(2) Fig.4(3) Fig.4(4)
Figure 4 QD@ | @ | 6
Number of Hexagon 1 3 6 10

Number of matchsticks used 6 15 27 42 X

A. 60 B. 72 C.81 D. 90
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9. 983 x(3.7+2.3) +0.236 x1000 = o
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Mike is 10 years old now and Bill is 13. How many years have passed

before the sum of their age is 49. Answer:

In Fig.5, the difference between the 4-digit M ] ]
number and the 3-digit number is 2010. What is _ 00
the maximum sum of these two numbers? 2 0 1 0
Answer: Fig3
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In fig.6, rectangle ABCD, AB=10cm, AD=15cm, A _E D
ED=2AE, F is mid point of segment CD, then area of EF
shaded part in figure is : B . C

Fig 6
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2010 T FE BN X HKHESZ

E 1 2 3 4 5 6
g ® B C D A B A
FL5L 7 8 9 10 11 12
% % D A 6134 530 13 & 4008
E 13 14 15 16 17 18
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